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1. Use the graph to name the function..
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2. Describe how to transform the graph of f into the graph of g.

a. f(x)= vx and g(x) = 3v/x
Verfical stetch by a fuctor of 3.

b. f(x) = Vxand g(x) = ~/=x
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Honors PreCalculus Name %ﬂj/l/

Transformation of Functions

Period Date
inside ouside add or subract = translation (or shift or slide)
(: horizontal) = vertical multiplication by a negative = reflection
= LIES = TRUTH multiplication by a number = stretch or shrink

Describe the transformations of fix) for the following functions.

1. f(x)=x*to g(x) =x%-7

Jertical_shitt oy 7

2. f(x)=x%to g(x) = (x+4)2

homzomLG/ shift 4 onits e

3. fx)=2x3 to g(x)——x

ﬂ’-ﬂ?d about The. Y-axis

4. f(x) =x5 to g(x) = (=x +2)°
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(x) = vx to g(x) = 2Vx
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6. f(x) = Ix| to g(x) =~  Ix|
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7. f(x) =x to g(x) = (~3x - 2)? +3
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8. f(x)=Vx to g(x) = Jzx +20
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8 f(x)=x to g(x) ==6x
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